SRR 30LF BE TR

B/hEENL—R—ILKE

RRIZBAHER

1. 818 : ES14£2828 (1) 215 HARSAEKELRE A-B-C-Da—h
B%- 21+ 8:30 REERE 9:10 HR=X 9:30(5F£0H #EREGLAERERE) JBRAR—Y 28— E-F-Ga—h
HE #HAstt IHy
RRFERAEK IHhY
[55 £ 0] £i5: HAKELEAFEE A-B-C-Da—h
XFLaz7 1 10J VCJKF
(X ¥ ) RARIEGL (X F )
A3 B B XFTaz=7 c3
21 - 8 EEB 8 H 18 - 21
#HMTEVSC_2 21 - 3¢ 0 E3f/: TOKAI 2421 - 16p 1 HJd Ky — A
(O f=blah) Al - ¥ 4 L STI=vsR 15 - 12 &3] (EEX=EMH)
21 - 18} %65 1 i 7 {21 - 17}
21 - 14 0 ¥ 6 fL: JVCKF 21 - 15 0
- F746: & < B -

# 0 Y_3 . A4 % 8 fif: a<HbFuX c4 2#ESTARS
(INEEH) {21 - 7} X EfI8F—LANB KRS HI ][21 - 10} (1 A/ ™)
2421 - 840 2919 - 2101

- 15 - 7
bie n_4 BrFYLLE AR
(O f=B 1) (INEEH)
A2 Cc2
21 - 1 18 - 21
2{21 - 1% 0 2{21 - 19}1
- 15 - 12
EH# 4T O K A1
& < 5_5 o (® # #)
( % % &) RFOa=7
A5 B5
21 - 2 ] 21 - 15
21 - 27 0 2321 - 107 0
- A6 [21 - 7 -
17 - 2101
STI=vYRX_6 15 - 8 15 & g
(47 A/ W) (O f=bihh)

D2

21 - 12
2921 - 1670

B2

21 - 11
2921 - 870

16 /I 8

B4

(K& F )
D3
21 - 14
2{21—18}0
Tl Xy X 8
(8% 8 M)
D1
21 - 11
21 - 8¢ 0
.3 #B_9
(% M M)

A4, B4, C4, D3IDEXE THE

JVCKR
T <5
3

EbFyX

24 - 22
2921 - 19700

C5
21 - 17
24921 - 1870
C6
21 - 1
2914 - 211
15 - 12
g D4 |
21 - 17
2925 - 2370

(BEXEM)

1TEBY ST Jr

Bi (B I8 M)
B6 (21 - 13 21 - 1
2{21 - 15}0 2{21 - 1% 0
_ B3 _
21 - 14 18 I &
2421 - 1070 (B | W)
T s
7 19 £& 2}
o : (8 @8 ™)
K =
v
A
7
1 z
<IEfLRER >
= < ‘DE—I
19 - 21
5 2{21 - 12}1 @
15 - 9
ERCE S




1. 818 : EH31EF2A28 (L)

Bi5- 24+ 8:30

wE #Asdt IHY
ARERK IHY

1

(65 £ D ER]

RERERE 9:10

B4 9:30(6FE£DE BRERtEYV)

ES

18 - 21
19 - 21+ 2

=15 HARELAEREE A-B-C-DI—h
JBRE—YE 52— E-F-Ga—
=15 BRIR—YE 52— E-F-Ga—hk

# o Y
(NEETM)

B R4
(¢ HET™) E6 (17 H ™)
13 - 21
1921 - 13p1
CoAlTA 2 1
F4
21 - 9
21 - 1900
TOKAI Ta=
(= #) (X F8)
Gt DIOws F2
21 - 10 ZF 21 - 11
2421 - 120 0 e xA4] K15 = 2141
I % B | JVCKF
(INEETH) F6 (K F M)

21 - 6
2921 - 670

HIEERF A8 F
(V=5 Rh) (O f=5 A
E1 E3
21 - 1 ATOvs 21 - 1§
2421 - 13+ 0 ES 2921 - 1200
[lBRKR+]
JVCKFBF H DY B F
(K F ) E7 (/% E i)
21 - 23
21 - 15
F5
15 - 21
9 - 212
EXE Y =]
(8 @ M) (O f=b 1 Vi)
Fi cinws F3
21 - 15 &7 21 - 8
1918 - 2171 [fEZ A2 ] 221 - 9,0
#H M EVSC N #
(O FbHEh) F7 (BEXEMH)
21 - 9
2421 - 7¢0
G2 JVCKFGS
( Il
K21 - 14 1
R & BEWBI5TJr
(%M W) (B g )
G4 EJAYY G3
BLRA 21 - 3
[lBRER+E] 221 - 870
= A FF
(NEEMH) G6 (M)

21 - 6
21 - 5700



